	BID RESULTS					
CK09MERC	ER2018-36 ONE (1) 2019 CASE 850M WT TIER 4F CRAWLER DOZER					
BID OPENING DATE : SEPTEMBER 20, 2018						
NO. OF RESPONDENTS:	2					
NAME OF RESPONDENT	FOLEY INCORPORATED	GROFF TRACTOR NEW JERSEY, LLC				
ADDRESS	855 CENTENNIAL AVE	551 N. HARDING HIGHWAY				
CITY, STATE, ZIP	PISCATAWAY, NJ 08855	VINELAND, NJ 08360				
CONTACT	JEFFREY MERLE	KAREN FORTE				
TELEPHONE	732 855 5555	856 697 1414				
FAX	732 457 0551	856 697 4842				
E-MAIL	JMEREL@FOLEYINC.COM	KARENGIBISON@GROFFTRACTOR.COM				
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED	SIGNED AND DATED				
INSURANCE REQUIRED FROM AWARDED VENDOR	REQUIRED IF AWARDED	REQUIRED IF AWARDED				
STOCKHOLDER DISCLOSURE CERTIFICATE	SIGNED AND DATED	SIGNED AND DATED				
BUSINESS REGISTRATION CERTIFICATE	OK	OK				
EIC	138 EXPIRES 05.15.20	54757 EXPIRES 07.15.21				
EXHIBIT A	INCLUDED	INCLUDED				
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED				
HOLD PRICING BEYOND 60 DAYS	YES	YES				
UNIT COST FOR ONE (1) 2019 CASE 850M WT TIER 4F CRAWLER DOZER	\$ 185, 946.00	\$ 129, 883.00				
MANUFACTURER	CAT	CASE				
MODEL	D6K	850M WT T4F CRAWLER DOZER				
YEAR	2018	2019				
DELIVERY DATE	/ERY DATE 120 DAYS					
exceptions	ELECTRICAL - 24 VOLT ELECTRICAL SYSTEM WITH A MINIMUM 120 AMP ALTERNATOR CAT OFFERS 100 AMP ALTERNATOR- REFER TO EXCEPTIONS PAGE	WRITTEN DIRECTLY ON EACH ITEMS WHERE NEEDED				
FATAL FLAW	NO	NO				

CC2018-02 MEDICAL AND MENTAL HEALTHCA	REFOR MERCER COUNTY CORRECTION CENTER FOR TWO YEARS WITH ONE YEAR OP SEPTEMBER 21,2018				
NUMBER OF RESPONDENTS	1				
NAME OF RESPONDENT	CFG HEALTH SYSTEMS, LLC				
ADDRESS	765 EAST RTE. 70, BUILDING A100				
CITY, STATE, ZIP	MARLTON, NJ 08053				
CONTACT	DENISE RAHAMAN, EXECUTIVE DIRECTOR OF CORRECTIONS				
E-MAIL	drahaman@cfgpc.com				
TELEPHONE	856 797 4709				
FAX	856 419 7177				
HOLD PRICING BEYOND 60 DAYS	YES				
NSURANCE 1 AND 2MM GL, 1MM AUTO, I AND 3MM PROF LIAB REQUIRED	REQUIRED IF AWARDED				
ADDENDUM NO. 1	RECEIVED AND DATED				
ADDENDUM NO. 2	RECEIVED AND DATED				
AFFIRMATIVE ACTION CERTIFICATE	32347 EXPIRES 5/15/20				
EXHIBIT A	INCLUDED				
STOCKHOLDER DISCLOSURE	OK				
new jersey business registration	OK				
REFERENCES OF SIMILAR	INCLUDED - WARDEN TO CHECK				
SCOPE/EXPERIENCE  IRAN CERTIFICATION	SIGNED AND DATED				
POLICY AND PROCEDURE MANUAL	INCLUDED - PROPRIETARY TAB 3				
COST SAVINGS	INCLUDED				
STAFFING	INCLUDED				
QUESTIONNAIRE:	RESPONDED				
MEDICAL HEALTH SERVICES:					
OBJECTIVES	INCLUDED& ADDRESSED AFFORDABLE CARE ACT				
PROGRAM ADMINISTRATION	INCLUDED				
CQI	INCLUDED				
REPORTING AND RECORDKEEPING	INCLUDED				
CONTINUING CARE	INCLUDED				
UTILIZATION REVIEW AND COST	INCLUDED				
CONTAINMENTS MENTAL HEALTH SERVICES:					
OBJECTIVES	INCLUDED				
PROGRAM ADMINISTRATION	INCLUDED				
CQI	INCLUDED				
RECORDKEEPING	INCLUDED				
CONTINUING CARE	INCLUDED				
EXCEPTIONS	NONE/PROPRIETARY INFORMATION INCLUDED				
FATAL FLAW	NO				

MEDICAL HEALTH SERVI	CES FOR THE ME	RCER C	OUNTY CO	RRECTION CENTER			
CFG HEALTH SERVICES LLC							
PROGRAM COST YEAR ONE	HOURS PER WEEK	нои	RLY RATE	WEEKS PER YEAR	Α	NNUAL COST	
MEDICAL DIRECTOR	35	\$	144.95	52	\$	263,809.00	
ADMINISTRATOR	35	\$	78.23	52	\$	142,378.60	
nurse practitioner, part time	15	\$	75.61	52	\$	58,975.80	
COST FOR:							
UTILIZATION REVIEW					\$	28,278.94	
ADMINISTRATIVE COSTS					\$	123,508.06	
PROGRAM COST YEAR ONE					\$	616,950.40	
ALTERNATE: DIRECTOR OF NURSING	35	\$	74.07	52	\$	134,807.40	
PROGRAM COST YEAR ONE WITH D.O.N.					\$	751,757.80	
PROGRAM COST YEAR TWO	HOURS PER WEEK	HOU	RLY RATE	WEEKS PER YEAR	Α	NNUAL COST	
MEDICAL DIRECTOR	35	\$	149.30	52	\$	271,726.00	
ADMINISTRATOR	35	\$	80.58	52	\$	146,655.60	
nurse practitioner, part time	15	\$	77.88	52	\$	60,746.40	
COST FOR:							
UTILIZATION REVIEW					\$	29,127.31	
ADMINISTRATIVE COSTS					\$	127,213.30	
PROGRAM COST YEAR TWO					\$	635,468.61	
GRAND TOTAL YEAR ONE AND TWO					\$	1,252,419.01	
ALTERNATE: DIRECTOR OF NURSING	35	\$	76.29	52	\$	138,847.80	
PROGRAM COST YEAR TWO WITH D.O.N.					\$	774,316.41	
GRAND TOTAL YEAR ONE AND TWO WITH D.O.N.					\$	1,526,074.21	

MENTAL HEALTH SERV	MENTAL HEALTH SERVICES PROPOSAL FOR THE MERCER COUNTY CORRECTION CENTER								
CFG HEALTH SERVICES,LLC									
YEAR ONE STAFFING	HOURS PER WEEK	IN	SERT HOURLY RATE	INSERT RATE PER WEEK				INSERT ANNUAL COST	
social worker, msw	35	\$	42.90	\$	1,501.01	52	\$	78,078.00	
SOCIAL WORKER, BS, PART TIME	15	\$	35.90	\$	538.50	52	\$	28,002.00	
PSYCHOLOGIST	35	\$	92.93	\$	3,252.55	52	\$	169,132.60	
PSYCHIATRIST	15	\$	157.28	\$	2,359.20	52	\$	122,678.40	
ADMINISTRATIVE COSTS							\$	73,840.20	
TOTAL YEAR ONE							\$	471,731.20	
YEAR TWO	HOURS PER WEEK	IN:	SERT HOURLY RATE	INS	ERT RATE PER WEEK	WEEKS PER YEAR	IN:	SERT ANNUAL COST	
SOCIAL WORKER, MSW	35	\$	44.19	\$	1,546.65	52	\$	80,425.80	
SOCIAL WORKER, BS, PART TIME	15	\$	36.98	\$	554.70	52	\$	28,844.40	
PSYCHOLOGIST	35	\$	95.72	\$	3,350.20	52	\$	174,210.40	
PSYCHIATRIST	15	\$	162.00	\$	2,430.00	52	\$	126,360.00	
ADMINISTRATIVE COSTS							\$	76,055.41	
TOTAL YEAR TWO							\$	485,896.01	
GRAND TOTAL YEAR ONE AND TWO							\$	957,627.21	